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MATHEMATICS

National 5 – Relationships
Unit 2  – PRACTICE NAB 1
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Answer these questions

Assessment Standard 1.1   
	Q1
	A straight line with gradient   -3    passes through the point  (3, 5)

Determine the equation of this straight line.
	(3)

	
	
	

	Q2
	Solve the inequation       
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	(3)

	
	
	

	Q3
	The Robinson family go to Fantasy Island theatre show. Their family outing consisted of Mum, Dad, Aunty Joan, the 10 year old triplets and 7 year old daughter (3 adults and 4 children). They paid £76.50 in total.

Write an equation to represent this information.
	(1)

	
	
	

	Q4
	Solve the following system of equations algebraically;
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	(3)

	
	
	

	Q5
	Change the subject of the formula to R,
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	(3)

	
	
	

	Q6
	A parabola with equation y = kx² is shown below.
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What is the value of k ?


	(1)

	
	
	

	Q7
	The graph below shows a quadratic function with equation of the form 
y = (x + b)² + c, where b and c are integers.
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State the values of b and c.


	(2)

	
	
	

	Q8
	Sketch the graph y = (x – 4)(x + 2) on plain paper.

Mark clearly where the  graph crosses the axes and state the coordinates of the turning point.
	(3)

	
	
	

	Q9
	The equation y = (x – 3)² – 6 is a parabola.

(a)  Write down the equation of its axis of symmetry.

(b) Write down the coordinates of the turning point on the parabola and state  whether it is a maximum or minimum.


	(3)

	
	
	

	Q10
	Solve the following equation:

(x + 9)(x – 7) = 0


	(1)

	
	
	

	Q11
	Solve the equation x2 + 4x – 7 = 0 using the quadratic formula. Round your answer to 2 decimal places
	(4)

	
	
	

	Q12
	Determine the nature of the roots of the equation 3x2 – 4x + 1 = 0 using the discriminant.


	(3)

	
	
	

	Q13
	John states that his lawn is in the shape of a rectangle. Is his statement true? Show your working to justify your answer. 
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	(3)

	
	
	

	Q14
	Shown is a circle, centre C, with diameter AE.
[image: image17.emf]PQ is a tangent to the circle, meeting it at E.                  
(EDQ is isosceles with ED = EQ.

Given that (EAD  =  42(,  calculate the 

size of  (DQE.

(Explain clearly how you obtained your answer.) 


	(3)

	
	
	

	Q15
	A 16cm long watering can holds 2litres of water.

In the same range of watering cans a similar larger version is 24cm long.

Calculate the volume of the larger can.
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	(2)

	
	
	

	Q16
	Here is a regular octagon.
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Here is a regular octagon.

Calculate the size of the shaded angle

Sketch the graph of y = 4cosx® for 0° < x < 360°

‘Write down the period of the graph with equation y = cos3x°.

wond

Solve the equation 4sinx® —2 = 0. 0° < x = 360°





Calculate the size of the shaded angle


	(2)

	
	
	

	Q17
	Sketch the graph of     y = 4cosxo [image: image11.png]0° < x < 360°



     for     

	(2)

	
	
	

	Q18
	Write down the period of the graph with equation     y = cos3xo 
	(1)

	
	
	

	Q19
	Solve the equation  4sinxo – 2 = 0 [image: image14.png]0° = x = 360°
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	(3)

	
	End of question paper
	

	
	
	


E





P





Q





D





A





C





(





42(








_1422346435.unknown

_1422347087.unknown

_1422345562.unknown

